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Terrain Improvement Chart

(Anarchy, Despotism)  Any resource >2 is reduced by 1.
Pollution
(4/2)    (all terrain)

Railroads:
time 2×R,
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Roads and Railroads over Rivers:  (+2/+1)

City square always at least 1 1 0  (Glacier: 0 1 0).
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Terrain Improvement Chart

(Monarchy, Communism, Fundamentalism)

Pollution
(4/2)    (all terrain)

Railroads:
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Roads and Railroads over Rivers:  (+2/+1)

City square always at least 1 1 0  (Glacier: 0 1 0).

© 2003  Paulius G Stepanas
[image: image87.png]


[image: image88.png]


[image: image89.png]


[image: image90.png]


[image: image91.png]


[image: image92.png]


[image: image93.png]


[image: image94.png]


[image: image95.png]


[image: image96.png]


[image: image97.png]


[image: image98.png]


[image: image99.png]


[image: image100.png]


[image: image101.png]


[image: image102.png]


[image: image103.png]


[image: image104.png]


[image: image105.png]


[image: image106.png]


[image: image107.png]


[image: image108.png]


[image: image109.png]


[image: image110.png]


[image: image111.png]


[image: image112.png]


[image: image113.png]


[image: image114.png]


[image: image115.png]


[image: image116.png]


[image: image117.png]


[image: image118.png]


[image: image119.png]


[image: image120.png]


[image: image121.png]


[image: image122.png]


[image: image123.png]


[image: image124.png]


[image: image125.png]


Terrain Improvement Chart

(Republic, Democracy)    Any [image: image5.png]


 ( +1[image: image6.png]


.
Pollution
(4/2)    (all terrain)

Railroads:
time 2×R,
+50% [image: image7.png]



Farmland:
  time I,
+50% [image: image8.png]



Roads and Railroads over Rivers:  (+2/+1)

City square always at least 1 1 0  (Glacier: 0 1 0).
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